

			Vendor Ranking		Page 1 of 1
Letting:	04250110	January 10, 2025 10:30 AM	Call Order: 005	Contract:	E4X72-R0
District:	District 4		Counties: PALM BEACH	Fed Aid No	: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	42762667201 (*)
Contract Desc:	PALM BEAC	CH COUNTY TREE TRIMMING	G - ROUTINE MAINTENANCE		

Percent Of **Bid Type Bid Status** Rank Vendor **Total Bid** Low Bid 1 SALGADO TREE TRIMMING LLC Responsive Winning bid \$33,300.00 100.00% 2 **T & M LAWN-FENCE SERVICE INC** Responsive Non-Winning Bid \$43,550.00 130.78% 3 SUPREME ROOFING & CONSTRUCTION, INC. Responsive Non-Winning Bid \$123,100.00 369.67% T.T.C. ENVIRONMENTAL, INC. Responsive Non-Winning Bid \$158,150.00 4 474.92% GROW CARE OUTDOOR SOLUTIONS, LLC Responsive \$194,750.00 5 Non-Winning Bid 584.83% 965.77% 6 MIDWESTERN CONSTRUCTION, INC Responsive Non-Winning Bid \$321,600.00 7 CLEAR ZONE MAINTENANCE, INC. Responsive Non-Winning Bid \$372,100.00 1117.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	01/28/25	BEGIN TIME:	10:30 AM
	END DATE:	01/31/25	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 200,000.00 and not the contractor's bid total.



Page 1 of 8

Tabulation of Bids

Letting:	04250110	January 10, 2025	Call Order:	005	Contract: E4X72-R0
District:	District 4		Counties:	PALM BEACH	Fed Aid No: N/A
Contract Time:	365 CALEND	AR DAYS			Project(s): 42762667201 (*)

Contract Descr: PALM BEACH COUNTY TREE TRIMMING - ROUTINE MAINTENANCE

The work under this Contract consists of tree trimming and removal of non-desirable trees and brush from primary state roads in Palm Beach County, FL.

The summary of pay items for this project is listed in the Bid Price Proposal.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$200,000.00 and not the contractor s bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

•BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/egualopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to SmallBusiness@dot.state.fl.us

Pregualification per Rule 14-22 is not required.

•REQUIRED SUBMITTAL WITH BID:

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Certified or Cashier's Check, the BDJ Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Line No / Item ID Item Description	Alternate	Quantity Units	(1) SALGADO T LL	REE TRIMMING .C	(2) T & M LA SERVIC		· · ·	E ROOFING &
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (1	TREE TRIMMI	NG AND REMOV	AL (MH				
0005 E110 2 CLEARING & GRUBBIN	١G	4.000 AC	100.00000	400.00	100.00000	400.00	1,000.00000	4,000.00



01/10/2025

Tabulation of Bids

Page 2 of 8

Letting: 04250110	January 10, 20	25 Cal	l Order: 005		Contract:	E4X72-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) SALGADO TE		(2) T & M LA SERVIC			E ROOFING & CTION, INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0010 E580332 20 TREE REMOVAL (LESS THAN 4")	250.000 EA	1.00000	250.00	1.00000	250.00	15.00000	3,750.00
0015 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	10.00000	2,000.00	10.00000	2,000.00	20.00000	4,000.00
0020 E580332 22 TREE REMOVAL (13" TO 24")	150.000 EA	10.00000	1,500.00	10.00000	1,500.00	25.00000	3,750.00
0025 E580332 23 TREE REMOVAL (25" TO 36")	100.000 EA	10.00000	1,000.00	10.00000	1,000.00	35.00000	3,500.00
0030 E580332 24 TREE REMOVAL (37" TO 48")	50.000 EA	10.00000	500.00	10.00000	500.00	50.00000	2,500.00
0035 E580332 25 TREE REMOVAL (> 48")	50.000 EA	10.00000	500.00	10.00000	500.00	100.00000	5,000.00
0040 E580332 99 TREE AND BRUSH REMOVAL	4.000 AC	100.00000	400.00	100.00000	400.00	25.00000	100.00
0045 E580336 PRUNING AND TRIMMING (LESS TH 4")	50.000 IAN EA	75.00000	3,750.00	80.00000	4,000.00	80.00000	4,000.00
0050 E580336 1 PRUNING AND TRIMMING (4" TO 24	50.000 ") EA	75.00000	3,750.00	80.00000	4,000.00	80.00000	4,000.00



01/10/2025

Tabulation of Bids

Page 3 of 8

Letting:	04250110	January 10, 20	25 Ca l	l Order: 005		Contract:	E4X72-R0	
Line No / Item I Item Descriptio		Quantity Units	(1) SALGADO TI LL		(2) T & M LA SERVIC			E ROOFING & CTION, INC.
() indicates item is	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0055 E580336 PRUNING AND TR		50.000 EA	75.00000	3,750.00	80.00000	4,000.00	80.00000	4,000.00
0060 E580336 POWER SHEARIN AND 20' HEIGHT		50,000.000 H LF	0.10000	5,000.00	0.20000	10,000.00	0.75000	37,500.00
0065 E580336 POWER SHEARIN GREATER THAN 2	G >0' TO 15' WIDT	40,000.000 H LF	0.10000	4,000.00	0.20000	8,000.00	1.00000	40,000.00
0070 E580336 ⁻ PRUNING AND TR		100.000 EA	65.00000	6,500.00	70.00000	7,000.00	70.00000	7,000.00
	RIMMING AND Se EMOVAL (MH)	ection Totals:		\$33,300.00		\$43,550.00		\$123,100.00

Contract Grand Totals:	\$33,300.00	\$43,550.00	123,100.00
------------------------	-------------	-------------	------------



01/10/2025

Tabulation of Bids

Page 4 of 8

Letting:	04250110 J	anuary 10, 20	25 Ca l	l Order: 005		Contract:	E4X72-R0	
	/ Item ID Alternate scription	Quantity Units	(4) T.T.C. ENVI INC		(5) GROW CAF SOLUTIO			ESTERN CTION, INC
() indicate	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(TREE TRIMMI	NG AND REMOVA	\L (MH				
	10 2 & GRUBBING	4.000 AC	1,500.00000	6,000.00	2,500.00000	10,000.00	3,000.00000	12,000.00
	580332 20 OVAL (LESS THAN 4")	250.000 EA	25.00000	6,250.00	45.00000	11,250.00	65.00000	16,250.00
	580332 21 OVAL (4" TO 12")	200.000 EA	50.00000	10,000.00	85.00000	17,000.00	150.00000	30,000.00
	580332 22 OVAL (13" TO 24")	150.000 EA	50.00000	7,500.00	150.00000	22,500.00	300.00000	45,000.00
	580332 23 OVAL (25" TO 36")	100.000 EA	150.00000	15,000.00	185.00000	18,500.00	450.00000	45,000.00
	580332 24 OVAL (37" TO 48")	50.000 EA	400.00000	20,000.00	300.00000	15,000.00	550.00000	27,500.00
	580332 25 OVAL (> 48")	50.000 EA	800.00000	40,000.00	500.00000	25,000.00	650.00000	32,500.00
	580332 99 BRUSH REMOVAL	4.000 AC	100.00000	400.00	2,000.00000	8,000.00	650.00000	2,600.00
	580336 AND TRIMMING (LESS TH	50.000 IAN EA	10.00000	500.00	65.00000	3,250.00	65.00000	3,250.00



Tabulation of Bids

Page 5 of 8

Letting:	04250110 J	anuary 10, 20	25 Cal	l Order: 005		Contract:	E4X72-R0	
	lo / Item ID Alternate	Quantity Units	(4) T.T.C. ENVI INC		(5) GROW CAR SOLUTIO		· · ·	VESTERN CTION, INC
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (TREE TRIMMI	NG AND REMOVA	L (MH				
	E580336 1 3 AND TRIMMING (4" TO 24"	50.000) EA	20.00000	1,000.00	150.00000	7,500.00	125.00000	6,250.00
	E580336_2 3 AND TRIMMING (> 24")	50.000 EA	30.00000	1,500.00	75.00000	3,750.00	145.00000	7,250.00
	E580336 12 SHEARING >0' TO 15' WIDTH IEIGHT	50,000.000 H LF	0.50000	25,000.00	0.45000	22,500.00	1.00000	50,000.00
POWER S	E580336 13 SHEARING >0' TO 15' WIDTH R THAN 20' HEIGHT	40,000.000 H LF	0.50000	20,000.00	0.65000	26,000.00	1.00000	40,000.00
	E580336 14 3 AND TRIMMING (PALMS)	100.000 EA	50.00000	5,000.00	45.00000	4,500.00	40.00000	4,000.00
0001	I TREE TRIMMING AND Sea REMOVAL (MH)	ction Totals:		\$158,150.00		\$194,750.00		\$321,600.00

Contract Grand Totals: \$158,150.00 \$194,750.00 321,600.00



Tabulation of Bids

Page 6 of 8

Letting: 04250110 Ja	inuary 10, 202	5 Cal	l Order: 005		Contract:	E4X72-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(7) CLEA MAINTENA					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (1		G AND REMOVA	L (MH				
0005 E110 2 CLEARING & GRUBBING	4.000 AC	2,500.00000	10,000.00				
0010 E580332 20 TREE REMOVAL (LESS THAN 4")	250.000 EA	50.00000	12,500.00				
0015 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	150.00000	30,000.00				
0020 E580332 22 TREE REMOVAL (13" TO 24")	150.000 EA	350.00000	52,500.00				
0025 E580332 23 TREE REMOVAL (25" TO 36")	100.000 EA	850.00000	85,000.00				
0030 E580332 24 TREE REMOVAL (37" TO 48")	50.000 EA	1,200.00000	60,000.00				
0035 E580332 25 TREE REMOVAL (> 48")	50.000 EA	1,400.00000	70,000.00				
0040 E580332 99 TREE AND BRUSH REMOVAL	4.000 AC	1,500.00000	6,000.00				
0045 E580336 PRUNING AND TRIMMING (LESS THA 4")	50.000 N EA	50.00000	2,500.00				



Tabulation of Bids

Page 7 of 8

Letting: 04250110	January 10, 20	25 Ca l	l Order: 005		Contract:	E4X72-R0	
Line No / Item ID Alterna	ate Quantity Units	(7) CLEA MAINTENA					
() indicates item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMII	NG AND REMOVA	L (MH				
0050 E580336 1 PRUNING AND TRIMMING (4" TO	50.000 24") EA	100.00000	5,000.00				
0055 E580336 2 PRUNING AND TRIMMING (> 24")	50.000 EA	300.00000	15,000.00				
0060 E580336 12 POWER SHEARING >0' TO 15' WI AND 20' HEIGHT	50,000.000 IDTH LF	0.22000	11,000.00				
0065 E580336 13 POWER SHEARING >0' TO 15' WI GREATER THAN 20' HEIGHT	40,000.000 IDTH LF	0.24000	9,600.00				
0070 E580336 14 PRUNING AND TRIMMING (PALM	100.000 IS) EA	30.00000	3,000.00				
0001 TREE TRIMMING AND REMOVAL (MH)	Section Totals:		\$372,100.00				

Contract Grand Totals:

\$372,100.00



Page 8 of 8

Letting:	04250110	January 10, 2025	Call Order: 005	Contract:	E4X72-R0
NOTE: Failure to file a protest within the time prescribed in section 120.57(3). Florida Statutes, or failure to post the bond or other security					

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.